Integration by parts formula:

/udv:uv—/vdu

cos?(x) +sin?(z) = 1 sec?(z) — tan®(z) = sin(2x) = 2sin(z) cos(x)

1 2 1-— 2
cos?(z) = —|—c+(x) sin®(z) = 1 — cos(2z)

Trigonometric identities:

Derivatives of trig functions.

dsinx dtanx 9 dsecx
= COS T =sec” ¥ = secx tanx
dx dz dx
dcosx , dcotx 9 dcscx
= —sinx = —cscix = —cscxcotw
dz dz dx

Trigonometric substitution tricks for odd powers of secant and even powers of tangent:

u = sec(f) + tan(f) sec(0)do = du
u
u? +1 u? —1
sec(0) = o tan(f) = -



